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Exercise 5 RAID

Let p be the failure probability of a hard disk. Calculate the failure probability of the following
RAID systems:

• RAID 0 with 2 hard disks

• RAID 1 with 2 hard disks

• RAID 3 with 4 hard disks

• RAID 5 with 4 hard disks

• RAID 6 with 5 hard disks

• RAID 0+1 with 4 hard disks

• RAID 10 with 4 hard disks

Exercise 6 Polynomials over Galois fields

Consider GF(4) based on the irreducible polynomial x4 + x + 1. Compute the addition, multipli-
cation and the logarithm table.
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